
Figure: 30 TAC §115.420(c)(13)(G)  
 

VOC T3-stage = VOCbc + VOCmc + (2 x VOCcc) 
                      4 

 
Where: 

VOC T3-stage = the volatile organic compounds (VOC) content, in pounds of VOC per gallon (less 
water and exempt solvent) as applied, in the three-stage system 
 
VOCbc = the VOC content, in pounds of VOC per gallon (less water and exempt 
solvent) as applied, of any given basecoat 
 
VOCmc = the VOC content, in pounds of VOC per gallon (less water and exempt 
solvent) as applied, of any given midcoat  
 
VOCcc = the VOC content, in pounds of VOC per gallon (less water and exempt 
solvent) as applied, of any given clearcoat 
 


